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‘Less one’; to exclude from Rabi Yehudoh — 717377 929712 2158 DR 07

OVERVIEW

The % nx explains that the 73wn concludes saying ‘these are the max?» max, forty
‘less one’’, to exclude the view of "1 who added two additional n1ox7n n1ax.! Our
Mmoo discusses the need for the 71wn to repeat itself, saying NnR 701 2°v2a7R, twice.

n1voIN asks:
-2y 1YY NYIIT NININDNT NN

It is astounding! We can derive this (the exclusion of 777> 1) from the counting
in the beginning of the mwn!

MooIN rejects a possible answer:
= 599) HYIN RNT 399U NIN 9199195 NI

And we cannot say that the /wn» taught certain MaX and omitted other nax,
because the mwn states "77K'!

mooINn anticipates a (related) difficulty:
= TPITN 7970 SPIAND 199NV RYIIT IINND NNT MYWPNRD NI XN 117910)

However we cannot ask this (following) question; that we can exclude the ruling

of X' based on the "' of the X@"; so why did the X713 say that we exclude X", only
because of the 19X in the X5°0?

mMooIN responds
= 5OND) AN DO HY 2990 DY INPIN INPT DIVN MAN TN XYY VPIT 919919D NIINT

For we can say that the XIn mentions 28 X in the Xw>, because this 7wn is
referring to the previous mw» which stated that he is liable for every 77o8%% 2R,

! The two max5» which *"1 adds are v2w (lining up the threads of the >nw) and p7p7» (beating the threads of the
7).
2 The mwn begins with NMX 707 @Y27R MR Mar [19X]; we can derive from there that the mwn is excluding the two
max, which *"1 is adding. Why did the n1wn need to repeat itself at the end and again say nnx qom 131 17K.
3 We would not be able to exclude the two n1ax of >" from the Xw™ alone because we could have said 27w Xin,
however now that the 71wn repeats twice that the N1aR are nnR 701 " that surely excludes the max of *"9. This would
seemingly answer N90IN question. N2OIN however rejects this answer.
4 It is apparent from M0 that his X073 in the X of our 7w was 'R 701 7 MIXRM MR 12X,
5> The mwn by writing 17X indicates that only these are the NaX%» Max to the exclusion of all others. The question
remains why the repetition.
¢ We cannot, therefore derive that there is no 21n for a AR D2 77210, because the 178 merely means that these are
the N1DR?1 MaR mentioned in the first mawn. However we can infer from the 19X that our mwn disagrees with >3 and
there are only 39 m1ox?», and we do not include pTp7aM VW
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so our Wwn continues to teach which are the M>OX57 K.

NIBOIN answers:
= YN 52979 SPIOND 1PNV NI NYIIT NININNT 91915 v

And one can say; that from the enumeration of the X2, we cannot know that

the mwn seeks to exclude "' -
= MAIYN MIAINTN NIN 29VUN NIT 9199199 NIINT

For one can say that the 71wn enumerates only prominent N>R -
- 779 95 7991 0ONT IYN 10Y 2N XY 17 MANYNT 23 HY R P1PT1HY VIV YaN

However vaw and p7p7», even though they are nmaxb», nevertheless the mawn
did not teach them because they are not so clarified® —

moon finds support for his answer:
= 9)ND 1P TN 23 (3,10 91 PYITPT NNDP PI93 23WN NIN) INNDI

And in the first P of PwITP nNOon the XA answers in a similar manner

regarding the case of ‘these (212 0°72v) we gift to them’; the x73 there states -
9317 1289 111285 19 PRY 927 19930 NAYP 1Y WY 931

The 8n>92 states only something which is set, however something which is not
set, the Xn> 72 does not teach it.

SUMMARY
Occasionally, even when the word 198 or a number is mentioned the Xin may not
list all the items if they are somewhat different from the entire grouping.

THINKING IT OVER
How many nax are there according to a7 2?13

7 vaw and pTpTA are very similar to 70 and 3K respectively (and indeed that is why the o»on disagree with >"),
therefore the 71wn does not mention them for they are not seen as distinguished N19%%7 on their own.
8 Therefore from the 'nnx =o' of the Xw1,we would not have excluded 771 vaw (for the above mentioned
reason), however now that the mwn repeats 7nX 70m, it certainly excludes p7p7m1 v2W.
% The x> there asks (on 9"7) why does not the Xn™72 mention that an 7°72v77 AR (who goes out 287 nnPna
according to ") receives mpwn.
10 An 72y and an 7aX are free to leave at the end of six years of servitude; this is a 72¥p 12 w*w 127
' The death of the father is not set; he may or may not die at any time. We see that even though the Xn»"2 writes
198, nevertheless it may exclude certain cases. Here too even though it states 'x 10m v"%, it may leave out certain
MRy, which are not M.
121t should be pointed out that this was merely an attempted answer; however the X713 there refuted it. w">v.
13 See " 5w naw and o>now pnn (on the XIn3).
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